MA,.50FA0.50Pbl3 MA 75FAg25Pbl3

MAg25FAq 75Pbls

Vo = 166.75 MHz vo = 166.85 MHz
(a) Avwall] = -0.8 MHz (b) Avwall] = -0.9 MHz
4 Avyal2] = 0.48 MHz Avwal2] = 0.36 MHz
S =025 S =025
IS =0.118 MHz I =0.118 MHz
r = 0.7 MHz r = 0.95 MHz
—e— exp RT —e— exp 420 K
4 — fitN/P — fitN/P
,iA/%xé/égg = ‘ﬁ/)ﬁ%
T T T T T T T T T T
170 168 166 164 162 170 168 166 164 162
= 168.48 MH =167.8 MH
7 (C) Z%MA[H =-0.6 MHz ? (d) X%MAHJ =-0.6 MHz ’
Avyal2] = 0.42 MHz Avyal2] = 0.36 MHz
S =02 S =025
i IS =0.118 MHz I =0.118 MHz
r = 0.7 MHz o = 0.6 MHz
] —e— exp RT —e— exp 420 K
— fit N/P — fit N/P
T T T T T T T T T T
172 170 168 166 164 172 170 168 166 164
T v =171.7 MHz =169.8 MH
(e) AO\:MA[U =-0.73 MHz (f) Z%MAUJ =-0.6 MHz ‘
Avwal2] = 0277 MHz Avua[2] = 0.63 MHz
S =035 S =025
IS =0.1 I =0.118 MHz
r —o. o = 0.65 MHz
—e— exp 420 K
— fit N/P
T T T T T T T T T
176 174 172 170 168 166 174 172 170 168 166

127| v, (MHz)

127] vy, (MHz)




